Key to Quiz II; Finance 4360;  Summer, 1998

Use the following information to answer questions 1 through 4.

You have just deposited enough money to make thirty quarterly withdrawals of $1500 each beginning 5 months from today.  The rate on your account is 4.5% per year compounded monthly.

1.  What rate should you use in taking the present value of the quarterly withdrawals? .01129; 
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2.  What would you enter for the payment when you calculate the present value of the quarterly payments? 1500

3.  What would you enter for “n” in the present value of an annuity equation or “N” into the financial calculator when you calculate the present value of the quarterly payments? 30

4.  After you calculate the present value of the quarterly payments, you will have to take the present value of this result.  If you use the rate in number 1, how many periods will you discount your first result? 2/3

5.  Suppose that starting three months from today you plan to make the first of 12 monthly deposits into a savings account.  Your plan is for each deposit to be 1% larger than the previous one.  Four years from today, you plan to make the first annual withdrawal from this account.  You plan to be able to make similar withdrawals from this account forever.  Which sequence of time value of money calculations would allow you to determine how much your first deposit would have to be (for example, present value of a growing perpetuity then future value of a lump sum)?

Future value of a growing annuity, future value of a lump sum, then present value of a perpetuity, or

Present value of a perpetuity, present value of a lump sum, then future value of a growing annuity

6.  Over the past four years, the annual returns on Speedo Inc. stock has been:  -12%, 24%, 4%, 35%.  If you believe that these four past returns are representative, what is your best estimate of the return on Speedo stock for the coming year? 
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7.  What would you calculate in order to determine whether the return on IBM stock is more closely related to the returns on Compaq or Dell? correlation

8.  Suppose you have gathered the following information:  The beta on Dell is 1.3; the covariance between Dell and Gateway is 325.75; the covariance between Dell and the S&P 500 is 225.34;  the standard deviation of returns on Dell is 38%; the return on T-bills is 4.3%; the yield to maturity on Dell bonds is 12%; the market risk premium is 8.2%.  What is the required return on Dell stock? 14.96 = 4.3+1.3(8.2)

Use the back of this page to draw the answers to 9 and 10 on the same graph.

9.  Draw a reasonable feasible set if you construct a portfolio of three risky assets.  Key to graph:  solid region that curves to left of the three points on the graph and is anchored by the three points.

10.  Draw the optimal combination of the three risky assets when combined with risk-free borrowing or lending.  Key to graph:  point of tangency for line between the risk-free rate and the feasible set.
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